Re-arrandging and solving one step equations
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Solve the following equations:

a)x+7=12 x=5

f)d+b =12 b=8

b)x—5=10

cJx+9=21

e)6+a=42]
\ H

d)d4+a=10]

g)6+y=24

h)c—7=5

i) 7—a=-2

jj6—a=-8

a)x —2=-3

b)x —5=—11

c)5—x=7

fd)4a—b=7
e)ly—7=-9

L f)—7=b-5
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Solve the following equations:
aj4x=40 1 x =10 n==2 i x=10 W-ax=24 | X=-6

X

b)7x=35 i X =15 g==3 i x=18 |)_i4=3 X=-12
g2x=20 : X=10 h)§=2 X=6 m-3x=-18i X =6
déx=48 | X =8 i)§=20 X =140 n)—2x =16 X =-8
e)3x=211 x=7 pr=-2 Xx=-8 o)-5x=-20 | X=4
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r Exam question: ) @ . .'@

The shape shown is a square.

Find the value of x in the diagram.
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5x =25 i '

___X=5 25 |@Fms




